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ESTUDIANTE:	
  	
  _____________________________________________	
   PUNTAJE:	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /60	
  	
  

	
  
	
  
“Como	
  estudiante	
  de	
  ESPOL	
  me	
  comprometo	
  a	
  combatir	
  la	
  mediocridad	
  y	
  a	
  	
  actuar	
  con	
  honestidad;	
  
por	
  eso	
  no	
  copio	
  ni	
  dejo	
  copiar”	
  
	
  

-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
Firma	
  de	
  compromiso	
  del	
  estudiante	
  

	
   	
  
	
  
Escriba	
  V	
  ó	
  F	
  según	
  corresponda	
  
	
  

1. SCSI	
  trabaja	
  con	
  la	
  Arquitectura	
  punto	
  a	
  punto	
   	
  

2. Boole	
  es	
  el	
  enunciado,	
  creeencia,	
  ó	
  un	
  dato	
  con	
  un	
  valor	
  de	
  verdad	
   	
  

3. La	
  arquitectura	
  se	
  refiere	
  a	
  los	
  atributos	
  de	
  un	
  sistema	
  que	
  son	
  visibles	
  al	
  programador	
   	
  

4. Xor	
  con	
  valores	
  iguales	
  da	
  como	
  resultado	
  verdadero	
   	
  

5. Memorias	
  Ram	
  según	
  las	
  velocidades	
  de	
  transmisión	
  son	
  SIMM	
  y	
  DIMM	
   	
  

6. DDR3	
  son	
  capaces	
  de	
  realizar	
  8	
  accesos	
  por	
  ciclo	
  de	
  reloj	
   	
  

7. SAS	
  permute	
  conectar	
  hasta	
  15	
  dispositivos	
   	
  

8. Raid	
  se	
  implementó	
  para	
  incrementar	
  el	
  desempeño	
  al	
  acceso	
  de	
  los	
  discos	
  duros	
  	
   	
  

9. Velocidad	
  nominal	
  es	
  igual	
  a	
  la	
  efectiva	
   	
  

10. El	
  tamaño	
  estándar	
  de	
  los	
  sectores	
  del	
  disco	
  es	
  de	
  512	
  bytes	
   	
  

11. Las	
  DRAM	
  son	
  memorias	
  asíncronas	
   	
  

12. SCSI	
  ancho	
  rápido	
  tienen	
  buses	
  de	
  16/32	
  bits	
   	
  

13. La	
  velocidad	
  de	
  rotación	
  son	
  las	
  revoluciones	
  por	
  minuto	
  de	
  los	
  platos	
   	
  

14. SCSI	
  y	
  SATA	
  son	
  discos	
  para	
  servidores	
   	
  

	
   	
  
Complete	
  	
  los	
  conceptos/significados	
  de	
  siglas	
  
	
  

15. Concepto	
  de	
  ISA	
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17. Explique	
  puntualmente	
  en	
  que	
  consiste	
  la	
  compresión	
  lossless	
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18. RAID	
  1	
  se	
  lo	
  conoce	
  como	
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19. Las	
  crea	
  Toshiba	
  en	
  1984,	
  producto	
  de	
  la	
  evolución	
  de	
  la	
  tecnología	
  de	
  las	
  memorias	
  EEPROM	
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20. Bus	
  de	
  sistema	
  bidireccional	
   _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
  _	
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  _	
  _	
  	
  

Desarrolle	
  los	
  siguientes	
  ejercicios	
  (20	
  puntos)	
  
	
  

1. Grafique	
  el	
  circuito	
  simplificado	
  A + B
__

.C + D
__

.(A + B
__

.C) 	
  
	
  

	
  
	
  

2. Utilizando	
  las	
  leyes	
  del	
  álgebra	
  de	
  Boole	
  y	
  explicando	
  lo	
  realizado	
  paso	
  a	
  paso,	
  demuestre	
  que:	
  	
  
 

 
 

  

Ley	
  del	
  algebra	
  de	
  Boole	
   Aplicación	
  al	
  ejercicio:	
  	
   	
  
	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
   	
  

	
  


